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Section A:- (40 x 2 marks)

Do Questions 1 to 40 carefully.

1. How many balloons are there in the picture ?
Write the answer in words.




2 Fill in the boxes with the correct answers.

|
a) 20 less than 77 is : J /

by 3 more than771s

3. Ring the 2 numbers that make.up 28.

8 22 24 6

4. Arrange the numbers from the greatest to the smallest. |

smallest

greatest.




5. Look at the picture and fill in the correct answers.

1

a) There are - ‘ groups of threes.

b) There are | * altogether.

6. Study the figures carefully and count the number of
rectangles.

There are | - rectangles.

£



7. Ring 12 matchsticks into groups of 6.
How many groups are there?
Fill in the box with the correct answer.

There are

“

| groups.

rd

The picture shows

9. -Tick ( v ) the one with the smallest value.

seventy

5 threes

1 ten 1 one

1 less than 30




Fill in the boxes with the correct answers.

10. 58 ~— = 24

11. - 12 = 41
-

12. 27 + 33 = : o

13. Henry has 10 ruby balls.
“Seme are red and some are blue.
He has 2 more red ruby balls than blue ruby balls.
" Colour the number of red and blue balls he has.

14. - Colour all the ice-cream:peg
~ 7th ice-cream.
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15. Fill in the missing numbers.
ay 25,35, . | 55,65
b) 315 33 ;" L 375739
- ‘_z
16. Study the pattern and ring the shape which comes next. .

</



(7. Ben uses 3 toothpicks to form a triangle.

He needs toothpicks to form 6 separate

triangles.

Look at the diagram carefully and answer the questions
18 and19.

Use |__] as 1 unit.

18. a) The spoon is 1 units long.
b) The fork is units long.
19. The spoon is ) unifs shorter than the fork.




20. John has $7.50 in his wallet .

Ring the amount of money in the box below.

-

-
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1 book cost

]

¢ ).
¢ 2
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Joan bought 8 books.
How much did she pay altogether ?

She paid $ ] f6r the books altogether.

$12

= 57 \I:en

Doll

$14

Benny spent $19 on 2 items.

Which items did he buy?

He bought a _ and a

23. Write the correct ansWer‘in the box.




Write the time shown on each clock for questions 24 to 26.
' 12

24, Ben has his breakfast at

25. After the long day in school,

Ben had his dinner at 4

26. After dinner, Ben went to bed

at

- 27. Which clock shows the wrong time? Ring it.

half past 12 6 o’clock |  half past 7

10 24



‘Look at the pictures and answer questions 28 to 30.

wine glass box

EAA

Use o as 1 unit.

28. The mass of the wine glass is units.

29. The mass of the box is 1 units more

than the wine glass.

30. The mass of 2 similar boxes is - units.

31. Jack bought a piece of papaya.

He received change.

The piece of papaya cost " cents.

TR | ' 3¢



32. This figure is made up of ’ J triangles and

t/’

circles.

[ - °

— o

O

6 9950k,

33. ng the fifth can from the right.

What is the missing number in the box ?

ra

34, 8+9= ,,]+'7

35. o | + 15=40

12 | | :}47



The graph below shows how the children come to school.
Answer guestions 36 to 40.

How childrenin a class come to school

B |

O
O

Bicycle Car Walk Bus

OO0O0000
O0O000000

0000

Each Q stands for 1 child.

z

36. | children come to school by bicycle.

37. Most children come to school by | |

3. | . -~ | more childfen come to school by car than

e

by bicycle.

13

=f



39. E _ fewer children come to school-by. car than

by bus.

2,

40. There are L : ; children altogether.

14

37



Section B: (5 x 4 marks)

Do these sums carefully. Show your working clearly.

41. Jack packs 6 pencils into a box.
How many pencils are there in 3 boxes?

o
B

There are - pencils in 5 boxes.

42. Jane has $55.
She gives away $16.
How much money does she have now?
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She has §$ , - how.
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43. Peter has 7 boxes of sweets.
If there are 4 sweets in a box,
how many sweets does he have altogether ?

Peter has . sweets altogethér.

44, John has 43 'stamps.
. He has 17 fewer stamps than his sister.
How many stamps does his sister have?

His sister:has . st'amps.

16



45, Levi has 24 marbles (([)) -

He needs to put them equally into 6 boxes.
Each box has the same number of marbles.
Draw the correct number of marbles for each box.

Then fill in the blank with the correct answer.

/]

Levi has _ L marble$ in each box.

End of Paper
Please remember to check your answefs..

17

32
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11.

13.

15a.
15h.

17.

Answer Sheets
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Ninety-three

g @

5 groups

15 3k  altogether

T

12+6=2
There are 2 groups

seventy | 5 threes | 1ten 1 one l1 less than 30

LV S I

54-12 =42
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25, 35, 45, 55, 65
31, 33, 35, 37, 39

3 x 6 = 18 toothpicks
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2a. 77 -20=357
. 77+ 3 =80

4, 73, 55, 39, 16

6. There are 3 rectangles

=]
Ith
w
S
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10. 58 — 34 =24

2. 27+33=60

SETTIITXE

L

16. ll

18a. Spoon = 4 units
18b. Fork = 9 units

33



19. 9 — 4 = 3 units shorter 20.

FIVE

5 f% l

B2
2

wo ?
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550,
>
21. $2 x 8 = $16 22. A book and a pen. (512 + §7)
Ske pay $16 for the books
altogether.
23, $12 - §7 =85 24.  7.30am (half past seven)
$5 x 4 = 520
25. 8pm (8 o’clock) 26.  Half past eleven.
27. = 28.  Wine glass = 4 units
9Ifl / .
half past. 12
29. Box =4 + 2 = 6 units 30. 1box = 6 units
6 — 4 = 2 units more 2 boxes = 6 x 2
= 12 units
31,  $1.00 - $0.35¢ = $0.65¢ 32. 3 triangles and 8 circles
33.

A0Qean D e
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35. 25+ 15 =40 36. 2 children
37. Bus 3. Car=6 Bicycle = 2
6 — 2 = 4 more children
39. Bus = § 440. 20 children
8 - 6 = 2 fewer children
41. 1bex = 6 pencils
Shoxes = 6 x §
= 30 pencils
42. $55 ~- $16 = $39
She has $39 now
43. 1box = 4sweets
Thoxes =4 x 7
= 28 sweets
Peter has 28 sweets altogether
44, 43 + 17 = 60 stamps
His sister has 60 stamps
45.
BOO®®
FOO®®
5 CHO®

24 =~ 6 = 4 marbles

Levi has 4 marbles in each box.
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